SUBTRACTING UP TO 1 000 000 WITHOUT CARRYING (H - SET 3)

SUBTRACTING UP TO A MILLION

Name:

Time:

Score:

1) 650893 — 100321 =

s12) 873730 — 622620 =

s13) 784835 — 680613 =

1) 352355 — 141042 =

15 996735 — 556524 =

s16) 455249 — 321107 =

a7 710984 — 700404 =

48) - 832049 — 800042 =

819) 658729 — 448726 =

850) 499458 — 3447 =

1711209 — 200206 =

852) 457304 — 122104 =

853) 423514 — 211303 =

1612093 — 201082 =

5 713632 — 213312 =

Mathematics: Subtraction - Level 7 - Horizontal - Set 3
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528305 — 10205 =

205362 — 53252 =

625572 — 320132 =

831790 — 510290 =

727016 — 322006 =

376054 — 352000 =

8470563 — 324041 =

621556 — 510204 =

321872 — 211510 =

422198 — 401047 =

878797 — 73493 =

541479 — 140410 =

298737 — 157200 =

720583 — 121 =

294124 — 160124 =
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